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Journalism & Mass Communication

Paper 11

FAUSATIRT ST SHAEATIA
PEELIECal | |

Time Allowed : 75 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions. Each question

carries Two (2) marks. Attempt All questions.

Aed. Hd YT SW e

AT : B GTAUCIRAES TR UM (50) Sg9aidl Ue AR, Uoheh YAl @ (2) T

Which of the following is not
understood through Content
Analysis ?

(A) Nature of communication
content

(B) Portrayal of particular group

(C) Expectations of the receivers of
communication content

(D) Comparison of media content to
the real world

Which one of the following is a
correct hierarchy in a newspaper
newsroom ?

(A) Sub-Editor, Chief-Sub-Editor,
Editor, News Editor

(B) Copy-Editor, Sub-Editor,
Executive Editor, News Editor

(C) News Editor, Chief-Sub-Editor,
Executive Editor, Editor

(D) Sub-Editor, Chief Sub-Editor,
News Editor, Editor

3 foweTogd Wefiadeh! d §AS]
RET -
(A) GO AREE EEq

(B) wamen fafyre e foaw

(C) HJT9T STRTAT UBUTehedi=aT 3TUaT

(D) W& S Srdfereh ST et

AT FaeIaHTdid Sefierde]

HIU A AT 3G ?

(A) STHIRH, &I ITHURH, HUKH,
ERERIEC)

(B) &IMl TUEeh, IUHUREH, IR
qUeeh, JAEUGH

(C) FUHURSH, H&I ITHURH, HESHR
TUEeh, 9UIeeh

(D) SUHURH, T& STHURH, JaHIRH,
TUEH
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Which ad slogan is not correct ?
(A) BSNL—Connecting India

(B) LAKME—Make-up that

survives the day

(C) BOROPLUS—At work at

leisure

(D) TAJ Holidays—“Every thing
looks beautiful when you are

with me”.

Raymond Williams introduced the
Popular Culture Theory. What is

not included in his theory ?
(A) Folk Stories

(B) Ballads

(C) Folk Theater

(D) Mythologies

Who was the anchor of the reality

show ‘Sach Ka Samana’ ?
(A) Rajdeep Sardesai

(B) Rajiv Khandelwal
(C) Rajat Kapoor

(D) Kiran Bedi

5.
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qEIcTdeh] UM el Soon (7€

wHE) I A ?

(A) SNTHTATA -kl sfea
(B) ol - Heh-3M7 <2 HRigws T
(C) I - 3f2 g, 32 ofor

(D) a Bifaes - ‘weedfun g

R =7 g AR fag =’

e faormg At A ad Wghdl =

(TR sheeR) Tagra dreen. =1 fagmam
qEcdeh] hIMEl FHeRT  ATE 2

(A) Arehehen

(B) <gUI-vars
(C) <ArehATed
(D) fags we

‘= wEr @ el s R
U BId ?

(A) TSEY TREE

(B) TSa @eadrd

(C) A &R
(D) fowtor a1




Who was not the Chairman of the

Press Council of India ?

(A) Justice R.S. Sarkaria

(B) Justice P.B. Sawant

(C) dJustice K.G. Bala Krishnan

(D) Justice G.N. Ray

‘Story telling’ in news writing

means :

(A) Writing a news as told by the

sources

(B) Writing a news in inverted

pyramid structure

(C) Writing a news in narrative
way and keeping the readers’

interest alive

(D) Writing a story for children

6.

7.
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qEicTiehl 0 YRAT gAqa aReR«

(F9 HIfHet) sree Fegd/AR ?
(A) <. AR TH. Gl

(B) = W. . wWEq

(C) <. . Sit. STAFVH

(D) =M. ST T X

ICRIEE RS I

(A) GiaTHREA qAS dT aAraH]

fafea

e~ N

(B) 3T TARITT=AT

qgdd  dTaHl

fafea

(C) ar=et=n W feRA UTTIATHIS]

IUHICHS: Tgd aaHl fafeor

(D) @' Hendrdt e fafga

[P.T.O.



10.

The daily newspaper ‘Le Figaro’is 8.

published from :
(A) Bonn

(B) London

(C) Paris

(D) Venice

Maxwell McComb and Donald 9.

L. Shaw introduced :

(A) Social Responsibility Theory
(B) Uses and Gratification Theory
(C) Play Theory

(D) Agenda Setting Theory

Which is not an essential element

of newspaper design ?
(A) Colour

(B) Photograph

(C) Type

(D) Nut graph

10.
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‘@ R’ 7 < A ufas B9

(A) &
(B) o
(C) 9=

(D) ==

oA Hehlt 37U SFTes Td. 9 It

Hreaan faga

(A) WM SWeTaa fag
(B) S anfor wqeel fagia
(C) el fagma

(D) ‘sreier dfan' fasm

FAUST WSO JeleTueh! hIvdl Heeh
AR TR ?

(A W@

(B) Brf=s

(C) 2=

(D) FZU%
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11. Match List I (Communication 11. I I H¥iel §AUA S9Nk ST It

Researcher) with  List 1II 1T 9eftet |9 fagia == A e
(Communication Theory) and select AT, TR o Hehar= SR A7 Tt
the correct answer using the code forare
given blow these lists :
R | R
List I List II

(S0 HIier) GEIEREEL)
(Communication (Communication

@ SI§ TER (1) sTEfaar faga
Researcher) Theory)

(b) TR Hehlr

(a) George Gerbner (1) Dependence Theory

anfor SFeS TA. 3 (2) I fagid

(6) Maxwell McComb (2) Cultivation Theory

() Tooam EwTaa  (3) ==ifoug fFAfvedt
@ TE S o R (srrer @fem)

and Donald L. Shaw

(c) William Stephenson (3) Agenda Setting Theory

afor Afes <. faga

(d) S.J. Ball Rokeach (4) Play Theory

TeARR (4) wrer fag@
and Melvin De Fleur
Code : ; :
@ b © (@ (@ B © @@
(A 3) (2) 4 Q) A) 3 (@) 4) Q)
B @ 3 1 @) B @ 3 @O @
< 2 @ 4 3 ©c @ O @ 3
O @ @ @ @ D@ 6 @ @

5 [P.T.O.



12.

13.

14.

DVD stand for :

(A) Direct Visual Disc
(B) Digital Visual Daily
(C) Digital Video Disc
(D) Direct Video Disc

Which of the following is a digital

audio recording format ?
(A) JPEG

(B) MP3

(C) ZIP

(D) XLS

The technology that immediately
preceded mobile telecommunication

was :

(A) Pager

(B) Fixed-point telephones
(C) Telegraph

(D) Walkie-talkie

13.

14.
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(A)

(B)

(C) fefoea fxfemr fe=n

o o N o

e fxfed femm

(D)

Teieyeht v fefsed eami-ggomei
Tgd AR ?

(A) JPEG
(B) MP3
(C) ZIP

(D) XLS

YHUTESHT GUeh IS0 oIl 3Mel v

TIEE SRS WA S ?
(A) TSR

(B) Teart qeart

(C) dr

(D) @ifehi-2leht




15.

16.

17.

Which of the following is not the
basic function of an advertising

agency ?

(A) Client servicing

(B) Copywriting

(C) Media planning

(D) Programme scheduling

Which celebrity appears in the TV

advertisement of Boost ?
(A) M.S. Dhoni

(B) Akshay Kumar

(C) Sachin Tendulkar
(D) Yuvraj Singh

Which of the following programmes
is not produced by News Services

Division of All India Radio ?
(A) Samachar Prabhat
(B) Celluloid Ke Sitare
(C) Charcha Ka Vishay Hai

(D) Comments from the Press

15.

16.

17.
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Eelerdeh] IV, Sed T Ay
HE A ?

(A) TRHY

(B) shidmafem

(C) wrey e

(D) %A ATk A=

"SR A ST Sl vl GiEG
et femd ?

(A) WESTHE &
(B) 31&™ AR
(C) dfe dgae
(D) ForrS &

JEIcTdeh! ShIVAI HRIRH STTeRTRTETU=AT
Iaha faurmEEd TR e T 2
(A) HUMER 99d

(B) ¥Hegeizs & faan

(C) ==t =1 fowa ®

(D) ®ifcd wH g 99

[P.T.O.



18.

19.

20.

Which was India’s official entry to  18.

Academy Awards (Oscar Awards) in

2010 ?

(A) A Wednesday
(B) Paa

(C) Three Idiots

(D) Harishchandrachi Factory

Which of the following can not be 19.

termed a Social Networking Site ?
(A) Linked In

(B) Hi 5

(C) Orkut

(D) Wikipedia

Licenses to run a private FM radio 20

station are granted by :

(A) Prasar Bharati Corporation

(B) All India Radio

(C) Ministry of Information and

Broadcasting, Gol

(D) Department of Telecommu-

nication
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2010 HTelt YRAMS SfehSHl JEhIHIS!

(MR GURR)  ATHRaAT hIvT

ferslUe gaauard el Bl ?
(A) T IR

(B) @1

(C) ot sfeaew

(D) ERE=gET Hedl

qETIh] HIAT GhasTasrd guid

HAITSToR IR EToa Hehaeied 3T hidl
PR AR ?
(A) faseg =1

(B) B WiER
(C) AR

(D) faferdifean
SN TH TH A9 e g&®
O ILEET i éﬁ ?

(A) JOR 9Rdl HEHSs

(B) STTRTITETON

(C) wifed! d TERY HATH, 9Rd THR

(D) THIR @




21.

22.

23.

Which one of these is not a business

news channel ?

(A) CNN

(B) CNBC

(C) NDTV PROFIT
(D) AWAZ

Google is a :

(A) URL

(B) Search Engine
(C) Website

(D) Email Address

What does ‘external validity’ mean

in research ?

(A) The degree to which the results
of a research are generalizable

to other situations

(B) When an external examiner
approves the findings of a

research

(C) The degree to which the

arguments are found logical

(D) The degree to which the results

are based on expected
conditions, rather than on

extraneous conditions

21.

22.

23.
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qEicTdeh] IV ATfeA] SATIRIToh
afe W@ ?

(A) HTTey

(B) et

(C) TEREE Hifthe

(D) 3

T Jeicishl e 3Ty ?
(A) ¥ R T
(B) &= e

(C) Hhd¥s (JodrEe)

(D) -9 T

~

qrEreyd (TReAa Lfafed) =S

& ?

(A) TErEn GeEAr freehy gav aRfeerdi-
el FHE fosRi @] groar g

(B) o&l giefehd ERNeAr fsshufr
feoiett aran

o C

(C) IfFaaeren difehehd= YHTOI

(D) ol aRfeercigen sTuferd aRferdeR
aMenfa s Seuare gHmo

[P.T.O.



24. Which one of the terms is not related

25.

26.

to reporting in a daily paper ?
(A) Beat

(B) Facts

(C) Byline

(D) Serif

When was the SITE experiment

launched ?
(A) 1975

(B) 1972-73
(C) 1959-60
(D) 1982-83

Which of the following TV channels

does not broadcast news ?
(A) Mee Marathi

(B) Saam TV

(C) Zee Cafe

D) TV 9

NOV -19211/11

24, YEIGTUeh! IV Hll STdichTen Haled

25.

26.

= ?

(A) s

(B) ¥ Hifedt
(C) dmaetrs

(D) &%

‘qrge’ YART RO Wil g&E HI0A

e ?

(A) 1975
(B) 1972-73
(C) 1959-60

(D) 1982-83

qeieTdeh! ShIvrt Tersaroft anfet srasio

THRA hd @ ?
(A) T TS
(B) @™ =t
(C) =t =%

D) IJ& 9

10
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27. The term ‘Pay-per view’ is related 927 ‘J-w-g' & T HIMEN HAHA AT ?
to : (A) 3wg foseEmf qreo
(A) Satellite Television viewing (B) =R STVRIed SIeEeR faame
(B) Watching films on hired DVDs Rl
(C) Watching films in Cinema Hall (C) Toedee fosire e
(D) Viewing Videos on Internet (D) Tee fefed urel
28. What is the Mean of the following 98, el fecican ae= mmﬁmwﬁi(qﬁ-—[)
set of data ? i) ?
3,9,4,5,8,6,7 3,9,4,5,8,6,7
(A) 5 (A) 5
(B) 6 (B) 6
(C) 8 C) 8
D) 7 D) 7
29. ‘Response rate’ in survey research o9 wderur Hvfivqrd ‘ufgare =’ Im=n
refers to : —_y
(A) Percentage of filled .. .
. : (A) YETEed A el 96 GeNHehlhs
questionnaires returned to the
researcher RICEREEIEACEE I
(B) Percentage of response to an (B) TEMEN AEATeN Heaum=a gfadrer=i
appeal TFhAN
(C) Rate of responses given to open- (C) TS T e R
ended questions
58
(D) Proportion of eligible .
respondents in a sample (D) THARIA W FfEEH T
11 [P.T.O.



30.

31.

32.

Which of the following is the odd one

out ?

(A) Bhasha

(B) Univarta

(C) Hindustan Samachar
(D) Samachar . com

Claude Shannon and Warren

Weaver’s model in known as :

(A) Democratic-Participation Media

Theory
(B) Development Media Theory
(C) Social Responsibility Theory
(D) Mathematical Theory

During World War I which
newspaper was not the mouthpiece

of the nationalist agitation ?
(A) New India

(B) Bombay Chronicle

(C) Maratha

(D) Bengal Gazette

30.

31.

32.

NOV -19211/11

qEicTush! IV SAUdET A 3R ?
(A) Hre

(B) Ffam

(C) Tegeam wHER

(D) FHNER Sl¢ &H

Fote TN offor S dieet fqwrmen
REICEECEIEE I SEACEE

(A) ThRE-Te9r weEm  fagia

(B) faerma wresm fagma

(C) gHIfSeh SWeTae fagia

(D) fordt fagia

ufecal HeIST=N HTedid Jeicideh! shIvrd

A T Fdcd JEus Jed ?
(A) = fea

(B) dfFsl shifehcd

(C) 5@

(D) s e

12



33.

34.

35.

Which of the following pairs is not

correct ?
Director Film
(A) Vijay Tendulkar — Ghasiram Kotwal
(B) Satyadev Dubey — Shantata ! Court
Chalu Ahe
(C) Ramdas Phutane — Sarvasakshi

(D) Vijay Mehata Sangtye Aika

Which of the following is a

mismatch ?

(A) The Hindu — Chennai

(B) Hindustan Time — New Delhi
(C) The Times of India — Mumbai
(D) Divya Bhaskar — Bangaluru
Banner in a website is :

(A) Headline across the Home page
(B) Advertisement

(C) Link containing main theme

(D) Sitemap

33

34.

35.

NOV - 19211/T1
JEIcTUsh! IV SISl sRIeR  AAT& ?
feresia

(A) fos@ dgat — =R Sidara

fesue

(B) T&Ied gd

— 3naar | i =

e
(C) THS™ Hvl — Hadmaf

(D) fos@ Feadl — WA Ul

qElcTushl ShIUdT SISl SRIeX A&l ?
A) féeg—=g

(C) ™ A% sfear —Tas

(D) fo=a A — aB®
Hehaeear=al Heuid ‘o’ WUN
(A) & UAEE UAWR ®§ A
(B) Sfeqd

SN

Hy§l

[

foten '

(C) H&A @

(D) HehasA@El N (HEe HY)

13

[P.T.O.



36.

37.

38.

In communication research,

sampling method where each subject
or unit in the population has an

equal chance of being selected :
(A) Systematic sampling

(B) Stratified sampling

(C) Random sampling

(D) Cluster sampling

Which one of the following is not a

tool of new age reporters ?

(A) Mobile phone

(B) Computer

(C) Internet

(D) Photoshop

‘CSR’ stands for :

(A) Corporate Social Responsibility

(B) Corporate Societal Responsi-
bility

(C) Core Social Relationships

(D) Corporate Social Reliability

36.

37.

38.

NOV -19211/11

AT GENEEAS A TAIEE qgadrd

AR HEAA s Heeh/a&gen fHeret=

THHE Gt STHd

(A) IASHEG THATEE

(B) WA THAHee

(C) Agfozeh THANIE

(D) HHfesh THAeS

YfTe FqHIe= 7 WEd AR
(A) e

(B) EUIeh

(C) ¥

(D) IR

‘Hge’ =@ qul w9 &E ?

(A) HIRe Hrre Reifafafaet
(B) #fiRe damed Reffadsfad

(C) IR IR Remmirg

(D) &MARe 9 Rerefafas

14
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39. In the rural area the government 39. IUTHUI v fasm T Hfgd
popularises its development schemes TeafauamEdl SRR fafay JregHm=n
among the people through different TN H. T, [ER HIOR W
media. Which of the following is not . SRS N S
suitable in Indian villages ?

(A) ==t
(A) Photographs
(B) Folk Media (B) =
(C) Door to Door Campaign (C) =l F=R
(D) Web site Information (D) HeheeeeaigR Hifed]

40. The Field Publicity Wing of I & B 40. wifedt 9 ygrw gae@r=n =59 gfag!
Ministry is mainly responsible for : faam T S
(A) Publicity of Central . ‘

_ (A) g TR HIEIEHHTE! TMHO AT
Government programmes in
rural areas IREARCaL
(B) Publicity of State Government (B) T HIHT=AT hIARHATET UTHIOT
programmes in rural and urban e 5
areas
. . (C) fafay &= &M T EWEHa
(C) Publicity of NGOs working in
the field st wfeeH
(D) Advertising the Prime (D) TageEI=Al Aol adHEIsnd
Minister’s Policies in St o
newspapers
15 [P.T.O.



41.

42.

Who was Information and

Broadcasting Minister when

censorship on newspapers was

imposed in India after
Independence ?

(A) V.C. Shukla

(B) Bansi Lal

(C) Indira Gandhi

(D) Sanjay Gandhi

What can be included in the

Annexure of a research report ?

(A) List of books

(B) Tables and charts

(C) A copy of the questionnaire

used for data collection

(D) Suggestions

41.

42.
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WA geaeeR. yfagiqd s

AU STTedt, deaT Wifed! o TERoT it

I Bd 2

(A) To=m=Ror e

(B) s=diA

(C) sfem meh

(D) 9 F e

TN STedTaT=ar uffyrserd e

THEY Hal Il ?

(A) TR At

(B) 9iftvan 9 el

(C) qTHhHATTEIS ST FYATSA =

qd

(D) =T

16



43.

44.

Which one of the following is not

correct ?

(A) Inverted pyramid provides

white space for layout

(B) Inverted pyramid helps readers

to get gist of the news story

(C) Inverted pyramid is an aid to

chop off a news story

(D) Inverted pyramid helps the sub-
editor to give headline to a news

report

PIB stands for :

(A) Press Information Board

(B) Print Information Board

(C) Print Information Bureau

(D) Press Information Bureau

NOV -19211/11

43. WAl HIvd fag@ ser e ?

o N = [}

(A) Saren &ivHe JsenrsSuiare!

Tehost ST THead

(B) Scfeal Fahiuies areehiAT draH

TR GHSd

(C) S Five daHa sese

EXGIEDG

(D) 3 IR SUHUTEHTAT

FTHIAT A AFA Hed BId

44, ‘demEt’ 9 qof ®9 w2

(A) 99 THATHE a1
B) e TwivA
(C) oo s=hiTE =0

(D) 99 THATH oA

17

[P.T.O.
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45. Colour Television was introduced in 45. YIdid J:Jnd |(\-q>|q|ui\|-qﬂ| g&drd rq',(ﬂ ‘Hl(’ﬂ

India in : el ?
(A) 1959 (A) 1959
(B) 1982

(B) 1982
(C) 1995

(C) 1995
(D) 1971

(D) 1971

46. Censorship on newspapers was

46. HIUT hleeld YRATA FAIR IRISIIE

imposed in India during the

1B E E IR s ) s O g1 | N

period :

(A) 1962-64
(A) 1962-64
(B) 1975-77 (B) 1975-77
(C) 1978-80 (C) 1978-80
(D) 1971-73 (D) 1971-73

18
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47. Internet was launched in India for  4» gagm gRdE S9aETEE A
general public in the year : A
ATl seEeHE gfaun g8 swivdnd
(A) 1991
el ?
(B) 2000
(A) 1991
(C) 1995
B) 2000
(D) 2001 )
48. NFDC stand for : (C) 1995
(A) National Folk Development D) 2001
Corporation
48. 'TITHRSH’ =@ Y ®9 A ?
(B) National Field Development
Corporation (A) TEA ®Ih STAATHS HIARIH
(C) National Film Development (B) 73Md fhee Socigde ShIURYA
Corporation
(C) TeFa fhew Sacradie HIIRTHE
(D) National Feature Development
. (D) IFA e’ SIATHS hHIARYA
Corporation
19 [P.T.O.



49.

50.

Assertion (A) : Children are 49

becoming more violent.

Reason (R) : Lot of violence is
depicted in cartoon programmes

shown on TV channels for kids.

(A) Both (A) and (R) are
individually true, but (R) is not

the correct explanation of (A)
(B) (A) is true, but (R) is false
(C) (A) is false, but (R) is true

(D) Both (A) and (R) are
individually true and (R) is the

partial explanation of (A)

Which of the following does not

50.

belong to the group ?
(A) Special correspondent
(B) News Editor

(C) Stringer

(D) Reporter

NOV -19211/11

faam A) : go sfyefus fEas 2
3R,

FRT (R) : Haradren = arf

AIfEATIA hIed HRAKHHE Y

fGH=R Sreae Sl

(A) (A) 3T (R) & et faem saasrien
T 3fed; WG (R) T (A) = ArF

TSR0 el

(B) (A) & 9 fag™ g, Wg (R) ©
79 faum e

(C) (A) ¥ o9 faum o®; Wg (R)
T 99 faum s

D) (A) 3for (R) & foum w@asien
T 3Ted 3T (R) ® (A) o ¥R
TR0 3T

G| (el (S 2 M 21 < ) o 1 S RN | B
e ?

(A) TH FAHER

(B) JAEURH

(©) fesr

(D) SIieR

20
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ROUGH WORK

21 [P.T.O.
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ROUGH WORK
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TregTeitaTst gt
I qHEEIA I HI9Ad ATISl 3TEA
HHH; U9 Iy foetesn SXdfeh=n
U AraTe fere.
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